

SUMAS y RESTAS CON FRACCIONES

CALCULA PASO A PASO; Y, SI SE PUEDE, SIMPLIFICA EL RESULTADO:

1) $\frac{3}{4} - \frac{2}{3} =$
 $= \frac{\boxed{}}{12} - \frac{\boxed{}}{12} =$
 $= \frac{\boxed{}}{12}$

2) $1 - \frac{3}{4} =$
 $= \frac{\boxed{}}{4} - \frac{3}{4} =$
 $= \frac{\boxed{}}{4}$

3) $\frac{1}{8} - \frac{3}{7} =$
 $= \frac{\boxed{}}{56} - \frac{\boxed{}}{56} =$
 $= \frac{\boxed{}}{56}$

4) $\frac{2}{7} + \frac{1}{3} =$
 $= \frac{\boxed{}}{21} + \frac{7}{\boxed{}} =$
 $= \frac{\boxed{}}{\boxed{}}$

5) $\frac{3}{8} + \frac{1}{2} =$
 $= \frac{3}{\boxed{}} + \frac{4}{\boxed{}} =$
 $= \frac{\boxed{}}{\boxed{}}$

6) $\frac{5}{8} - \frac{1}{4} =$
 $= \frac{\boxed{}}{8} - \frac{\boxed{}}{8} =$
 $= \frac{\boxed{}}{\boxed{}}$

7) $\frac{1}{2} - \frac{3}{14} =$
 $= \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} =$
 $= \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}}$

8) $2 - \frac{5}{4} =$
 $= \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} =$
 $= \frac{\boxed{}}{\boxed{}}$

9) $\frac{1}{2} + \frac{3}{4} - \frac{7}{8} =$
 $= \frac{\boxed{}}{\boxed{}} + \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} =$
 $= \frac{\boxed{}}{\boxed{}}$

10) $1 - \frac{1}{3} + \frac{1}{4} =$
 $= \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} + \frac{\boxed{}}{\boxed{}} =$
 $= \frac{\boxed{}}{\boxed{}}$

11) $3 - \frac{1}{3} - \frac{2}{5} =$
 $= \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} =$
 $= \frac{\boxed{}}{\boxed{}}$

12) $2 - \frac{7}{6} + \frac{1}{3} =$
 $= \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} + \frac{\boxed{}}{\boxed{}} =$
 $= \frac{\boxed{}}{\boxed{}}$

13) $\frac{5}{6} - \frac{4}{3} + \frac{2}{9} =$
 $= \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} + \frac{\boxed{}}{\boxed{}} =$
 $= \frac{\boxed{}}{\boxed{}}$

14) $\frac{2}{3} + \frac{1}{6} - \frac{11}{24} =$
 $= \frac{\boxed{}}{\boxed{}} + \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} =$
 $= \frac{\boxed{}}{\boxed{}}$

15) $\frac{2}{3} + \frac{6}{4} - \frac{4}{6} =$
 $= \frac{\boxed{}}{\boxed{}} + \frac{\boxed{}}{\boxed{}} - \frac{\boxed{}}{\boxed{}} =$
 $= \frac{\boxed{}}{\boxed{}}$